(DICS 31)
B.A./B.Com./B.Sc. DEGREE EXAMINATION, DEC. - 2015
(Examination at the end of Final Year)
Paper - II : SCIENCE AND CIVILIZATION

Time : 1% Hours Maximum Marks : 50

Section - A (2 x 13 =26)

Answer any two of the following in sixty lines

1)  Inthe process of evolution what are the metals used?

83 387 (E5006° &3ATROBRES DY S°HFe 1108y Fraod.

2)  What are the different sources of energy? Explain in detail.

38 éégé&o Boto I Szee ééb':)css”e 5809 [Frobod.

3)  What are biological killers? Mention their advantages and disadvantages.

BIFY F0W0E TFITLoeD OFT B ? T8 &IAre, $pen 180D [FPAODD.

4)  Upto what extent the freedom must be utilized in the Society?

R S:50e306° 5055 &) AreBolBEIND Jod HEH DIATFRCWE ISRy ?

5)  What is LASER? Mention their applications.

Se38 IR ? T°e3 GB008), &SP Bewyn.

6) What are fertilizers? Write their types & uses in detail.

ABIIHEN BN D ? ToE3 E5oe, &IABITTEeD DSEOTT e[,

Section - B 3x4=12)

7)  Write short notes on any three of the following :
a) Antibiotics

eoeSwoiJ‘eS%.

b) Insecticides.

IBs0sEseen.



8)

d)

g)

h)

Biogas.

DGR,

Nuclear reactors.

80788 BB

Streptomycin.

RIS

Tidal energy.
SBon :)cﬁaesé.

Pollution control measures.

sve)oa’mé P atelr)oS) ;5650.).

DDT
a&a.

X-ray uses.

X-88e30e0 &533Temeen.

Section — C

Answer all questions

Fill in the blanks :

a)

b)

d)

Palaeolithic Age is also known as

FOBOHE asorR)y @9 E°E° @oLIdd.

causes Green house effect.

88 Hy (5578 SBeas0.

SHAR is situated in state.
SHAR mgoes‘ &o08.

Telephone was invented by

SO EDE0.

Bx4=12)



9)  Choose the correct answer :

a)

b)

c) Night blindness is caused by deficiency of Vitamin

d)

Father of computer
i)  Charles Babbage

iii) L.P. Pavlov
) o erdd

i) ©.9. 2Eers

‘MOUSE’ is a component of

1) Television

ii1) Computer

‘MOUSE’ 9 5858500 @B0%, grKso.

i) 3998

iii) Sogyegtob

i) Vit.E

iii) Vit. C

895e3 O DS 50 Seno.

1) Vit E

i) Vit. C

‘Cosmic Year’ is

1) 100 million years
ii1) 200 million years
i) 100 QdcHS ol

iii) 200 WAHS Soll

1v)

ii)

1v)

Roentgen

Thomas Savery

5506388

G0N AIo°

Radio

Telephone

883

B3O8,

Vit. A

Vit. K

Vit. A

Vit. K

150 million years

250 million years

150 doHS Soll

250 OoHS Soll



10) Match the following

a) Water 1) Hereditary characters
b) Genes ii) Chlorofluoro carbons
c) Ozone iii) Conventional energy
d) Petroleum iv) Hydroelectricity

a) A ) @503 ofren
b) sdogHen i) §°8°Ps8° syoen
c) &&%S iii) AroSarad SStoew
d) es’davo iv) o dos.

+4+++



(DBC 31)

B.Com. DEGREE EXAMINATION, DEC. - 2015
(Examination at the end of Final Year)
Part - 11 : COMMERCE

Paper — I1I : Business Laws

Time : 03 Hours Maximum Marks : 80

Section - A (4 x 4=16)

Answer any four of the following

1)  Consideration.

(BSBH@300.

2)  Surety.
FEEE.

3) National forum.

PHoH DB,

4)  Unpaid seller.
380D 554) OIEHTEL.

5)  Special Resolution.
88 Bomsan.

6) Contingent contract.

esfosd¥ s"oLeJ"E‘g.

7)  Doctrine of Indoor Management.

®oHd DB ged i)cssoém).

8)  Essential of Commodity.
DTG 5D



9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

Section - B

Answer any two of the following

Describe the essential of valid offer.

SESP0R (3B SBoo¥), eséf‘ézgS"eJo DIBowWB0.

What are the right and duties of Agent?
DB0ed B¥), FK) e, Ve A ?

Elucidate the penalties received for Violations under essential Commodities Act.

DEegSi58 56350 [Bots ©BEHeH DBoS sBrIren DEBLBODRD.

Explain the impact of undue influence and mis-representation of Contract.

a.;’)o)oéép S RIS SgT°S5S30, @K)éé égé L;’)?,)‘U"Xh DI3BowoSw.

Section — C

Answer any three of the following

Describe the essential of Valid Contract.

SE0F0R 23708500 A0, esdFgseen D3B30

Discuss the power and duties of Directors.

B8 05T, DgHen $8y0wE.

Examine the working of Consumer protection councils.

DIBHEED Bges Dodene 3 BBD $83OoW.

What are the rights and duties of bailee and bailor?
Bowd, ferbe @z, Ty e, ergsBen d?

Enumerate the implied conditions and warranties in a contract of sale.

CRAH) svoLe.rsgé‘:) 59y9) Seen, FFden BeoHs.

Describe different modes of discharge of a control.

SPoImE) DA Bako DG 8005 ISIB0BRW.

+4+++

(2 x 8=16)

(3 x 16 = 48)



(DBC 32)

B.Com. DEGREE EXAMINATION, DECEMBER - 2015
(Examination at the end of Final Year)
Part — I1 : COMMERCE

Paper — III : Income Tax and Practical Auditing

Time : 03 Hours Maximum Marks :80
SECTION — A
VEO -

Answer any Two of the following

B9 Bold (I Frprarey ratviiy 2x4=298)

1) Continuous Audit.
DBoSE esBeS.

2)  Non current Assets.

(59R28 esyen 52 essiyen.

3) Audit File.
B pS.

4) Contents of Audit report.
8¢5 8856°D wowren.

SECTION — B
245 - 9

Answer any Two of the following

P Bodh (FHetd FrprIvdiy 2x16=32)

5) Describe the procedure for appointment and removal of auditor.

33550 AaHAW0W 8ok R0 (K18aHid DSBoHI.

6) Describe the procedure for verification of inventory and debtors.

S0R0PH FEKH HBAH LNEKODO FBITD (SEADHID DS80HIN.



7)  Contents of Audit Program.
6386 RS’ ) wossven.

8) Explain the qualifications and disqualifications of auditor.

33808 edsen B0 @HBHen Sy
oJ° oJ°

SECTION - C
g -D

Answer any Two of the following

D39 Boch EIHeH WirgrSsiven @ravol

9)  Progressive and regressive taxes.

DB D DB 5 D Sikdyen.

10) Entertainment allowance.

3% gehgdoo.

11) Deductions under section 24 of income tax Act 1961.

BEeaD SR Béan 1961, YO 24 I5P8S0 SRoHeo evyn.

12) Previous Year.
ot} «\’)oéé“)ééao.

SECTION —D
Vg -8

Answer any Two of the following

39 Boch HeH Hirprssven @ravod

13) From the following particulars, calculate taxable

Mr. VARUN for the year ended 31* March 2014.

¢ Basic salary Rs. 34,500 per month

e Dearness allowance Rs. 8,200 per month

e Bonus Rs. 20,000

2 x4=8)

Q2 x 16 = 32)

income from salary of



o City compensatory allowance Rs. 1,100 per month

e House rent allowance Rs.84,000

e Rent paid for the house (Hyderabad) Rs.96,000
e Education allowance received for his one child Rs.3,000

e Life insurance premium paid Rs. 24,000
e Subscription to NSC IX issue Rs. 20,000

e Donation to Chief Minister cyclone relief fund ~ RS.10,000

31, 53‘5‘) 2014 eooémdi)é K)oaﬁéﬂ)éaiwéé) BIHS DIBS od B, SBoHh ABo0%), B0 od esmraHIv

632,0@:&».
® Sredssn deH goe. 34,500
® 55 Fagin Ao goe. 8,200

® 55355 . 20,000

® S8 SO PN I go°. 1,100

® 3083 ©d Fagswo go°. 84,000
® 3083 o8 390 (rsoeerd) 8oe. 96,000
® Do i 28, DOTDS go°. 3,000

® £28 D3 BDabo oD 8. 24,000
® 0D DoY) S|@oew oA 208 &3, 20,000
® 8D 899 S0gol® DGE 3D0II oS0 8. 10,000

14) Following is the profit and loss account of a merchant for the year ending 31* March
2014
Profit and Loss Account

Rs. Rs.
To Staff benefit costs  3,20,000 By Gross profit 7,91,000




To Rent of office

To Proprietor’s Salary
To Income Tax

To Wealth tax

To Value added Tax
To Depreciation

To Capital expenditure
To Interest on own

capital

To General expenses

To Net profit c/d

Additional Information:

1,20,000 By Income Tax refund

96,000
20,000

5,000
30,000
70,000
80,000

16,000

12,000
60,000

8,29,000

By Gift from mother

8,000
30,000

8,29,000

An Item of Business income of Rs. 20,000 was not recorded in the books of Account

by error.

Calculate taxable income from business.

érsb) 31, 2014 eooé;i)cﬁ)?s ROIBBINID BHS oy S oa° S0, Iy 6%)0%5505‘6 o g8

BEaDHSD B8 0PHS0.

To a;ﬁ) Ty

To 2% o8

To oHessoed B
To esaraby) S
To 505 Z)Sé.)&

To Dewss e85,

To ssrHse

e :6%0 OT°

goe.

3,20,000
1,20,000
96,000
20,000
5,000
30,000

70,000

By Ao orgiin
By esarab S8 830&
By $® #0d 20085

DTN

8oe.

7,91,000
8,000

30,000



To Soorees Py 80,000

To #~08 sressop 5§ 16,000
To dprdes LD 12,000
To 288 ergsn 60,000
~8,29,000 ~8,29,000
B N3TePBI0:

85 20,000 T8 e3meaHI0 ©F°08 HRFOS® EIme0S SEBaHRESE.

15) Mention Incomes exempted from tax under section 10 of income tax Act 1961.

?05\5 10 esaeod ;5263& éég&h) 1961 |55°8350 es&eod ;5(763& éégo 008 ITPo0oSDES esgeairen

@e)oo)é.).).

16) Explain the term provident fund and its kinds.
055 DB D0 T3 Bsen HFor™ Bewyod.



(DBC 33)

B.Com. DEGREE EXAMINATION, DEC. - 2015
(Examination at the end of Final Year)
Part — II : Commerce

Paper - III : Cost and Management Accounting

Time : 3 Hours Maximum Marks : 80

SECTION - A (4x4=16)

Answer any four of the following

1) What is a cost of Accounting?
5°R ©8 030 &R ?

2) Definition of Management Accounting.

DB gea ®°0e30R ABgSS0.

3) Tender costing.
805 s°RoA.

4) Work in progress.
BEH&) 3.

5 Comparative statements.

HOTHY J38%en.

6) Current Ratio.
(5:9% 8.

7) Principle of Halsey Incentive plan wages.

Oy 380 (5780 B30 88,03 Joe(Ew.

8 E.O.Q. Explain.
E.O0.Q. d38030&.



9)

10)

SECTION - B

Answer any two of the following

(2% 8=16)

Define cost Accounting? Explain briefly about nature and scope of cost Accounting?

s"a) @3°0t30fs ABD0N, SeggeSo, S8 1378y Hjore [@roHod.

The following are the balance sheets of a company for the years 2005 and 2006. Prepare a

comparative balance sheet and study the financial position of the company.

Balance Sheet

Liabilities 2005 2006 Assets 2005 2006
Rs. Rs. Rs. Rs.

Equity share capital 6,00,000 8,00,000 Buildings 3,70,000 2,70,000
Reserves 3,30,000 2,22,000 Plant and Machinery 4,00,000 6,00,000
Debentures 2,00,000 3,00,000 Furniture 45,000 55,000
Long term loans 1,50,000 2,00,000 Cash at Bank 20,000 80,000
Bills payable 50,000 45,000 Bills receivable 1,50,000 90,000
Sundry creditors 1,00,000 1,20,000 Debtors 2,00,000 2,50,000
Other current liabilities 5,000 10,000 Stock 2,50,000 3,50,000
Prepaid expenses - 2,000

14,35,000 16,97,000 14,35,000 16,97,000

2005 508050 2006 50115 2.8 02 AB08), 3R 3,0 a’)éw Bo8 o DI

es 03,0 36 SaLE> 3D LoD g, B IBYBI erabo Javod.

&R 3,0 .“:e§
oSy 2006 2006 edhen 2006
6e§5@5 TeP oo 6,00,000 8,00,000 #I7cen 3,70,000
Bestiocen 3,30,000  2,22,000 =rotw, abo@>en 4,00,000
&ﬁoiﬁég 2,00,000 3,00,000 2{)6&35 45,000

635»53553@@3 1,50,000 2,00,000 a}°§o§>e5sbfﬁéo 20,000

. °83 od SoOT S

2006

&r.
2,70,000
6,00,000
55,000

80,000



11)

3909 ef)e»me» 50,000 45,000 Sioeen i)oge»

s 1,00,000  1,20,000 es[fiyen

388 (3398 ©3ye0 5000 10,000 $%%
Swodore égo&’)f‘é qxibw

14,35,000 16,97,000

Prepare cost sheet from the following information :
Raw material

Work in progress

Finished stock

Raw material purchased

Direct wages

Factory overheads

Office overheads

Selling and distribution overheads

Sales

&2 1808 IS5B300 o JIBE B0 Wabod.

Sod Sargren

31.12.2009
$058° HI) 39 1.1.2009

31.12.2009
B0IBS FBH

31.12.2009

S0& Seegre e oRten

1,50,000 90,000
2,00,000 2,50,000
2,50,000 3,50,000
- 2,000
14,35,000 16,97,000
Rs.
1.1.2009 20,000
31.12.2009 24,700
1.1.2009 6,200
31.12.2009 6,900
1.1.2009 14,300
31.12.2009 8,400
17,600
14,000
7,900
2,600
3,000
56,800
Boe.
1.1.2009 20,000
24,700
6,200
6,900
1.1.2009 14,300
8,400
17,600



12)

S8 e

@»&56 L35G,

3807 £:55 &y

@B3,85300 HBak 30de8 toyen

eazéoés‘w

The following transactions took place in respect of an item of material

Date Receipts Issues Rate
Qty Qty
1.1.2006 400 - 2.20
8.1.2006 500 - 2.40
12.1.2006 - 300 -
15.1.2006 - 200 -
20.1.2006 600 - 2.80
27.1.2006 - 400 -

Show stores ledger by FIFO method.

2.8 S50 AY); orTBden 208 Jgore 8RID :

a8 g"mﬁ%o &8 Bew
S83oeeason S83oeeaon
1.1.2006 400 - 2.20
8.1.2006 500 - 2.40
12.1.2006 - 300 -
15.1.2006 - 200 -
20.1.2006 600 - 2.80
27.1.2006 - 400 -

FIFO 3&& D80y BITRD B> Satosm.
[~} [-8) [

14,000

7,900

2,600

3,000

56,800



13)

SECTION - C

Answer any three of the following

Prepare a common size Balance Sheet.

Liabilities 2010 2011 Assets

Rs. Rs.
Equity shares 1,00,000 1,00,000 Buildings
Reserve 24,000 22,000 Land
Mortgage loans 1,10,000 1,00,000 Stock
Creditors 30,000 90,000 Debtors
Bills payable 50,000 40,000 Bank
Provision for tax 44,000 28,000 Bills receivable
Profit & Loss Alc. 10,000 10,000 Good will

3,68,000 3,90,000

¥ 3855mer ey &0 368 B> Sanod.

ody,e0 2010 2011 eHen

-d

& &,
éaESeS e S B30 1,00,000 1,00,000 #Saven

Bestogeo 24,000 22,000 &
$3g° &y, 1,10,000 1,00,000 %%
ANV TRl T3 30,000 90,000 aweaifyen
390 Deen 50,000 40,000 ergo%
mm&?nobq}w 44,000 28,000 3o Deven
oY Spo e 10,000 10,000 H&IS

3,68,000 3,90,000

(3x16=48)

2010 2011

Rs. Rs.
1,00,000 98,000
1,08,000 1,00,000
30,000 60,000
40,000 80,000
30,000 2,000
50,000 40,000
10,000 10,000
3,68,000 3,90,000
2010 2011
8oe. .
1,00,000 98,000
1,08,000 1,00,000
30,000 60,000
40,000 80,000
30,000 2,000
50,000 40,000
10,000 10,000
3,68,000 3,90,000




14)

Following as the Balance Sheet of ‘A’ Ltd.
Liabilities Rs.

Share capital : 1,00,000

20,000 shares of Rs. 5 each

Reserve and surplus 65,000
5% debentures 1,00,000
Creditors 25,000

2,90,000

Sales for the year Rs. 6,00,000.
Calculate :

a) Debt / Equity Ratio.
b) Current Ratio.
¢) Quick Ratio.

d) Stock turnover Ratio.

A’ Ltd. 3°8 e es5y,0 563 (808 Dfor &8 :

oSypen 8.

Jeere Soresdo 1,00,000

20,000 arecen 5 8.

8&635&), :b?béoo) 65,000

5% &Bows8) 1,00,000

20e5°$e025,000 208 KRYen
2,980,000

K)oééﬁp‘ﬁ)g s go°. 6,00,000.

Assets

Buildings

Plant

Stock

Debtors

Bills Receivable
Cash

Preliminary expenses

esoen

-0

gFdeen

a;oé.a)

B

10,000
Siioren Deven
SR

@e508 PLed

Rs.

1,25,000

75,000
50,000
10,000

5,000
20,000

5,000

2,90,000

8oe.
1,25,000

75,000

50,000

5,000
20,000

5,000

2,90,000



808 3763 880308 :
a) eIy, / 8883 5B,
b) (SR8 58,
) Rud [ .
d) S8 08558 D58
15) The following data relating to the Liabilities of the balance sheet of Venkat Ltd., for the year of
31% March 2011 to 2014. You are required to calculate Trend Percentages taking 2011 on the base

year and comment on the position.

(Rs. In lakhs)

Liabilities 2011 2012 2013 2014
Share Capital 200 250 260 300
Reserves & Surplus 100 120 130 150
12% Debentures 400 400 600 800
Bank Overdraft 20 40 50 50
Profit & Loss Alc. 40 44 56 52
Sundry Creditors 80 140 120 140
Outside Creditors 4 6 10 8

055 dWBE 778 31 $0°8y 2011 #0& 2014 IBH e @Sy,0 éegée'i“ 03,0 3 Ko Ssraedo 8od

dgore HHB. 2011 K)oéé“)m‘og 88 Jods o B8 @5;50)8 o BN, 98@ )

550308 ? (Rs. In lakhs)

Qﬁyw 2011 2012 2013 2014
TPLT° TPOHIO 200 250 260 300
8&535&), :b?bii)o 100 120 130 150
12% &50{56‘% 400 400 600 800
83"’505.) 8,586 Ld‘é 20 40 50 50
oifSTe o 40 44 56 52
DG DO0EIT°HEN 80 140 120 140

200963 20 Sden 4 6 10 8



16)

17)

Bharath manufacturing Ltd., has four production departments are A, B, C and D and two service

departments X and Y. The expenses in the primary distribution are as follows.
A —Rs. 1,000; B —Rs. 900; C — Rs. 800; D — Rs. 600; X — Rs. 550; Y — Rs. 380.

Expenses of service departments are apportioned as follows :

Departments A B C D X Y
X 10% 30%  20% 20% - 20%
Y 30% 20%  30% 10% 10% -

Find out the overheads of production departments by repeated distribution method.

58 SriidgegsB80R dWHES® A, B, C 58a0 D arentd &8 dgersmen X $H8abo Y @ ot b

DeersveD S0y, (FoHDE 50D DB [F55i0 T3 tdyen BoB DV HHD.

A — 8. 1,000; B — 8o, 900; C — 8oe. 800; D — 8. 600; X — 8. 550; Y — &oe. 380.

2T° Jgrrsoe a)é.)b)e).) Bo& DEHI0M $0IS5S0.

D0 A B C D X Y
X 10% 30%  20% 20% - 20%
Y 30% 20%  30% 10% 10% -

BB S0DSR JEB ToT° &H)B JgrTre PLEL EHAI0E.

Job No. 007 gives the following information. You are required to prepare job cost sheet :
Materials Rs. 38,300.
Direct Wages : Department A : 50 hours at Rs. 20 per hour
Department B : 30 hours at Rs. 10 per hour
Department C : 10 hours at Rs. 5 per hour
Overhead expenses were estimated as below :
Department A : Rs. 40,000 for 4,000 labour hours
Department B : Rs. 2,000 for 100 labour hours
Department C : Rs. 1,000 for 50 labour hours.

Fixed overheads at Rs. 30,000 for 1,000 normal working hours. Calculate cost of Job No. 011 and
price of the Job to yield profit of 25% on selling price.



18)

29 Dot 007 ¥ ST o0& &b &¥B 301, BOHED IZBED SaPrtd abod.
S08 $8He» 8. 38,300.
L;Séés\ﬁémw : Ders : A 1 50 Koven, Koo Be. 20 11
g : B : 30 Kodoew, Koo &oe. 10 J°118
Agreriadon : C : 10 Kotoew, Koeddd e, 5 S° 119
55°E tdye0 808 IS0 ©oIT> IDTK.
Dgerian : A : 4,0000 @08 Hotsen 8. 40,000.
Dgerian : B : 100 @eQ0% Kotsen 8oe. 2,000.
Dgerian : C : 5O [@eQdE Kotoew &oe. 1,000.

9%)6 P8 1000 grdes Kowres &, 30,000e0m Hoeraw. &°d doadd 007 AdoE), 50d DIGED

Ho3E DD S H8p 25% ergo éwﬁo DPome @150 B E0R°S0&.

From the following details furnished by Mr. Raju. Prepare a contract account and contractee

account.

Contract price Rs. 18,00,000.

Materials purchased, Rs. 4,50,000.

Wages paid, Rs. 2,75,000.

Electricity Rs. 42,000.

Plant purchased Rs. 5,00,000.

Repairs to plant Rs. 30,000.

Expenses at site Rs. 45,000.

Wages payable Rs. 15,000.

Amount with contractee as Tender deposit Rs. 50,000.

Closing materials at site, Rs. 60,000.



Goods lost in theft Rs. 12,000.
Depreciation on plant Rs. 25,000.
Value of work certified Rs. 12,00,000.
Value of work uncertified Rs. 2,00,000.

Cheque received from the contractee Rs. 10,00,000.

BoB JSTPe esgrBonT Toedd $o0HoAD SP0eI”) & Bt svo@,rg PPB°R Hardd Jood.

&,
SOl 58 18,00,000
2380HS ToRten 4,50,000
390D IsTen 2,75,000
D58 42,000
ot SRR e 5,00,000
0t HHSSpBoEd 30,000
go;ﬁ»es‘ BN 45,000
3YoB3eDI Jsaren 15,000
sP0er8 38 &) B0 ErReS 50,000
gosns® &% 2EBaHS SwR0YH Jeog 60,000
Eordosads B, 12,000
Dot P BEIHSO 25,000
59880 S Dewsd 12,00,000
&,D8BoB30DI 3 Devd 2,00,000
SPoer8 500D Sy DLy, 10,00,000

44+



(DBC 34)

B.Com. DEGREE EXAMINATION, DEC. - 2015
(Examination at the end of Final Year)
Part - 11 : COMMERCE

Paper — I1I : Business Correspondence and Report Writing

Time : 03 Hours Maximum Marks : 80

SECTION - A (4 x 4=16)

Answer any four of the following

1) Resume.

SeBsab 8.

2)  Appointment order.
VOB GHBOD).

3)  Counselling.
?DQ@OK.

4)  Electronic Media.
o)oLs;X)E SR8 Soegsgioeen.

5) Downward Communication.

& S50 [SAES0.

6) Elements of communication.

5083306 womren.

7)  Complaint.

8) Formal Communication.

°0HN [FaHPP FodHo.



SECTION - B (2 x 8=16)

Answer any two of the following

9) Classify reports with suitable examples.
RBGN sETEeRs’ IBZe $88Bov0s.

10)  Give an account of communication networks.

BoBEY 8o HBO BevHw.

11) Briefly explain how communication would evolve itself in human society.

300958 Doresos®t §§1)‘°5&')§§5 dorr K)e)§oéa)&oﬁ‘s Lo IIBoBI0.

12)  State the merits and demerits of oral communication.

SDE g (SeBo Qg [SAraIren S8k &'ren 8oy0d.

SECTION - C (3 x 16 = 48)

Answer any three of the following

13) Examine the standard principles of writing the reports.

AIBE BISH eoéa’)é;ﬁocﬁoé [BrSoee3E S @redd DSBoSod.

14) Bring out the scope and significance of communication.

ER0NESD B0, S8 0BaH (RS0 Beyod.

15) What is upward communication? Mention its advantages and disadvantages.

a8 A0 g (B0 ©0E5 DS ? oD BwY), [SATETeD, &'Jen d0y08.

16) Critically examine the different parts of a business letter.

T8 &5506° DD O DTS Eon 388os0é.

17)  Explain the Intrapersonal communication. Distinguish between Interpersonal and Intrapersonal
communication.

3e8 S5O [SAEST AW ? 568 S%5® So8ain 3000 Jogg (SA80 s B ?

18) Prepare a draft a model termination order.

S30me TR0 SSLIHI B Sabosw.

+4+++



(DBC 35)

B.Com. DEGREE EXAMINATION, DEC. - 2015
(Examination at the end of Final Year)
Part - I : COMMERCE
Paper - I1I : Business Data Processing Systems

Time : 3 Hours Maximum Marks : 80

SECTION - A (4x4=16)
VO - D
Answer any four of the following

808 386" 23D Trevid (HHEDH FSTEEBSVeD ERAROBD

1) D base Software.
- AR a»§35.

2) File Organization.
26 a838S.

3) Data base Sorting.

@R 839 a»goﬁ.

4) Mailing Labels.
o0dof Sed,.

5 Graphs Creation in Spread sheets.
{0UL& 35y e Sydosow.

6) Word processing.
38 [PRNOR.
Go

7) Paragraph Formatting.
oo @vc"&éoﬁ.

8 Formatting Worksheet.
38) 50 FroydoR Saboto.



SECTION -B 2%x8 =16)
W0 -9
Answer any two questions
808 T>8&° 23 Bod> [HHEDH JIPEESBVD [EPAHSD.

9) Discuss about file access methods.

10) Write about the process of searching for record in database.

GerBHS’ 85°8) 576D A0S (S8ab H80D DE) .

11) What are the advantages of spreadsheet?
[_?\b& 8¢5 50 ergren A3 ?

12)  Explain the procedure for creating mail merge.

0006 2B 93203 (80 D3BoHI0.

SECTION - C (3x16=48)
VEO -
Answer any three questions
808 TBS° DI Hared (S SSTFESS0 @PaHS0

13) What are the file handling features of window.
Do&® gy, S F&of geen IWE.

14)  Write about the advantages and disadvantages of Direct Access Files.
@8BS a°3)0 Peve wvEreSen DB BRHETOS HBOD BT,

15) Explain the menus of M.S Word.
0., é§ G0E); WAV DHB0HI0.

16) What is a Wizard? Describe the procedure for producing a business letter.

D o™ Ae3? T8 S (DRID B8) Ko SaBIa (8D HoHEw.

17)  Define Spread Sheets? Explain advantages & operations of spreadsheets.
(& b 3580, [MyEay esErese 8aH esBiS)%H I380HI.

18)  Write about the features of word processing & file management under windows.

Do&RS® 3§ PR0R 2BakL PS HIEI0E eFETe 180D DET KD

174 174 174



(DBC 36)

B.Com. DEGREE EXAMINATION, DECEMBER - 2015

(Examination at the end of Final Year)
Part — I1 : COMMERCE
Paper — II1 : Corporate Accounting

Time : 03 Hours

Maximum Marks :80

D

2)

3)

4

5

6)

7)

8

SECTION — A
VEO -

Answer any Four of the following

D39 DreviD (IO Srpraren [ratoisy

Double Insurance.

23080 B)Sov.

Valuation of Balance Sheet.

9,
Weyéoéé &), epsﬁa))e) ;Seé.

Accounting standards.

©8°0630h [SSoresren.

Liquidator.
S3B935°38 .

Capital Reduction.
OLLIITAR ) éﬁo@.

Non-performing Asset.

DB esigen,

Minority Interest.

Q‘JO“) K)OQJ‘ééJQ) 5%

Purchase Consideration.

§eoften S8Fe80.

4 x 4=16)



9)

10)

1)

SECTION - B
W0 -9
Answer any Two of the following

P Bodh> (e ANy 2 x8=16)

Explain the need for accounting standards.

©8°030R |SSorere eséééééf‘é) D38oPHSw?

The following particulars are available in relation to a company:

a) Capital Rs. 450, 6% preference Shares of Rs. 100 each fully paid.

b) External liabilities Rs. 7,500.

c) Reserves & surplus Rs. 3,500

d) The average normal profit earned every year by the company Rs. 8,500

e) The normal profit earned on the Market value of equity shares, fully paid, of the same

type of companies is 9%.
Calculate the value of each type of share by

1)  Net Assets Method (assuming that out of the total assets worth Rs. 350 are fictitious)

1) The earning capacity Method.

2.8 50208 502008093 (808 IIT°e HoB Toe eSS

1) D88 oo 58S (3ogo siyes® 8. 350 58 sreon goTd)
1) 83 38 sgrdor 8§ 0508.

a)  Joregso 6. 450, 6% efEg Toeren 8. 100 TBy,S Hrem 3D0ISD.
b)  @0HeS 38 eIy,eo 8. 7,500.

C)  Bestgen, iy 8. 3,500.

d) & 0B BS00 BKeD g 8. 8,500

e) od S5 Sopdes® Jeom 380D 5883 Toere 55°8),¢5 Vv AEeBes ergssn 9%.

Vamsi company has accumulated profits in the reserve account and board of directors
decide to utilize a part of the reserve in order to make capital property representative of
financial position the paid up. Capital of company is Rs. 2,00,000 consisting of 25,000
equity shares of Rs. 10 each, Rs. 8 paid up, general reserve Rs. 80,000, 4% debentures Rs.



12)

70,000, Profit & Loss A/c Rs. 1,00,000, Assets Rs. 4,50,000. The director decide to issue
one fully paid bonus share at a premium of rupees 2 for every 5 shares held and to make
the partly paid shares into fully paid. Assuming the scheme is accepted and pass journal

entries.

308 5028 HITS—BDS ergren, Bestdgen &Ry, BBEL [0%0&° 0% Py 300005 DEB03E 8
Dgcmoé)a. 5%03).6 Sooregso 8c. 2,00,000 (Boe. 25,000 663503 Jeeren Yoo, 10 5"‘{)0},‘6, &, 8
agoa:é:)) ; P8 8&36.)5 goe. 80,000; 4% &8301‘,569’ &oe. 70,000; 02,5‘?6380 g do°. 1,00,000;
esyen 8. 4,50,000; 5 Trercen SORS TeeaeeetN8 2,563 5"3’)“))?6 S8 5?05)56 5559 FreTrord 8. 20

DD0aD08® #°8 Dokt D%000098, BSIES Jer S Feavod.

A life insurance company disclosed a fund of Rs. 20,00,000 and the Balance Sheet
total Rs. 45,00,000 on 31% December 2012, before taking the following into
consideration.

a) A claim of Rs. 10,000 was intimated and admitted but not paid during the year.
b) A claim of Rs. 6,000 outstanding in the books, for 8 years is written back.

c) Interest on Securities accured Rs. 800 but not received during year.

d) Rent of own building occupied Rs. 2,000

e) Premium Rs. 600 is payable under re-insurance.

f)  Re-insurance recoveries Rs. 26,000.

g) Bonus utilized in reduction of premium Rs. 10,000

h) Agents commission to be paid Rs. 8,000.

Pass the necessary journal entries for the above omissions recomputed the fund and

show the B/S total after making the above adjustments.

2.8 BB Soe o 8% Dysees® $d8 D G 8. 20,00,000 M HEAkL ey @Sy,e SBE g

85°. 45,00,000 77 (08 IST°e SITCLOET 0008 WPHWHB.

a) & 3058 B30eS" VoSS0V &8 35; goe. 10,000.
b)  IFseS® 8 SodETrenm &8 BOoBIOVS 55353 BEISBEISSB0 8. 6,000.

C) TS PErBlen 3& aos® ooAB 8e. 800.



13)

d) @08 #3550 ef 8. 2,000.

e)  PIByr Boano DYoS3LRIE . 600.

f) @:ssamo SR 8. 26,000.

g  BDabo BRoHH IR 5K 8. 10,000.

h) 6(201‘5;50?0:6 baaoé.%o) E3S 8. 8,000.

2 ST 0D OSHEPI Deren 30D, A HBA 8%, §e§, &) 3,0 ;’>e§ Bo030080 Feeren Dabod.

SECTION - C
g -D

Answer any Three of the following

D89 s> e trprsies Erabod (3 x 16 = 48)

You are asked by a liquidator of a company to prepare a statement of account to be
laid before a meeting of the share holders from the following:

Balance sheet of the company as on date of liquidation 1.1.2013

Liabilities Amount | Assets Amount
Share capital: 8,000 Fixed Assets 8,00,000
equity shares of Book Debts 3,00,000
Rs. 100 each called Loss on date 2,00,000
Rs. 80. 6,40,000 | Stock 3,00,000

2,000 preference
shares of Rs. 100

each called Rs.70 1,40,000
Loan from bank
secured on building
and machinery 3,00,000
Trade Creditors 5,20,000
16,00,000 16,00,000

The assets realised as follows:



1.4.13 — fixed assets Rs. 2,00,000; book debts Rs. 2,00,000; Expenses paid Rs.

8,000.

1.6.13 — fixed assets (final) Rs. 4,00,000; book debts (final) Rs. 50,000.
1.8.13 — stock realised (final) Rs. 2,50,000.

The liquidator is entitled to 5% on collection and 2% on the amount paid to the

equity share holders. Prepare the statement on the assumption that disbursements are

made in accordance with law as and when cash is available.

&3 1808 JSPTEI0 08 TLTPEHO SITEIEINS® HowWLH EoDd SBHITSHE :)o;méem ;523;5‘{)*56

POB® $HAIOHD 301);1);7:1&&).

1.1.2013 585553 8%e e e0y,0 363

©3y,e0 Amount | esdven Amount
ToeT® HUPREGH0: Ro°Ryen 8,00,000
8,000 ev &5° 100 IS aesfien 3,00,000
58.63 Treren J0d & 8% $3e500 2,00,000
38 8. 80 6,40,000 | 8 3,00,000
2,000 es@8gD Toeren
&?bébeS 8. 100
DOV 8. 70 1,40,000
ST, OHOBHRND
D8 0% 5008
SR8 axoeen 3,00,000
SBES) aoemesen 5,20,000

16,00,000 16,00,000

e 008 SKPSI8.

1.4.13 - %)U"Kppw 8o°. 2,00,000; HIED avvss|idyen dor. 2,00,000; 5@03:‘6 a)d)‘)e)o 8. 8,000.

1.6.13 - Joviyen (es8) 6. 4,00,000; HFEY aoeaisyed (ep8) &r. 50,000.



1.8.13 - AE Dod I0°BIB (es98) . 2,50,000. SBISCIDHE WSS T2AWE 5% eeses
TerEB0S 390D &R Wi 270 H K. B8 (HSPEI0 IBBes SIS Jotd BIJY FIJ ISBY

BoI8> Johod.

14) Following are the liabilities and assets of Goodbole Co. Ltd. as on 31* March 2013:

Liabilities Amount Assets Amount
Share Capital: Goodwill 22,500
3,000 5% Pref Shares Land & Buildings 3,00,000
of Rs. 100 each 3,00,000 | Machinery 4,50,000
6,000 equity shares Stock 65,000
of Rs. 100 each 6,00,000 | Debtors 70,000
6% Debentures 1,50,000 | Cash 7,500
Bank Overdraft 1,50,000 | Surplus A/c (NegativeBal) 3,50,000
Creditors 75,000 | Preliminary Expenses 10,000

12,75.000 112,75.000

On the above date, the company adopted the following scheme of reconstruction:

a) The preference shares are to be reduced to fully paid shares of Rs. 75 each and
equity shares are to be reduced to shares of Rs. 40 each fully paid.

b) The debenture holders took over stock and debtors in full satisfaction of their
claims.

c) The fictitious and intangible assets are to be eliminated.

d) The land and Buildings to be appreciated by 30% and Machinery to be
depreciated by 33 % %.
e) Expenses of reconstruction amounted to Rs. 4,500

Give Journal Entries incorporating the above scheme of reconstruction and prepare

the reconstructed Balance sheet.



15)

HES’S L02d dWHE 778 5578, 31, 2013 763 e Sy,0 5 BIOS DIEIB.

©Iy,e0 8. | esyen &oe.
TreT® STPOESS0 &S 22,500
3,000, 5% e@§§@ e, PIdren 3,00,000
Jeeeen 83°.100 5"‘%& 3,00,000 | odbo|@een 4,50,000
6,000 éagses JTPeIPe0 OB 65,000
&oc. 100 Sq: 6,00,000 | ew0ossiyen 70,000
6% &230:563 1,50,000 | Srieo 7,500
a7°§o§.> 2,265@;"@ 1,50,000 eramige) & 3,50,000
20080°HeD 75,000 | [@rgd0% a)éob)e» 10,000

12,75,000 12,75,000

2 885 502D $i38)Ted8 BomDoswEIB. BILS P eArBoIwEIB.

a) eRSgH Terod P 3o 8. 75 Ieereor, éa§5e3 Tero Br. 40 P8 3o
DeNIKOIT™ éﬁox‘ﬁéo.

b)  BBostHrrhes $H, aveiines HED 85 aef 583,50 Sabdo.
c)  EIDOBR esrigen, S0V Sapess 8& Jabo.
d) 2o, FSsTres 30% 3 voBeo, abo@ee 331/3% 3 SRoséo.

2 D5, e SEITT Ve Stren 7R, HIB)TE0 I0Bso &od &R 31,0 :)e§:0 Safed Dosos.

From the following information, you are required to prepare the profit and loss
Account of the PN Bank for the year ended 31% March, 2013. Under the provisions
of the Act applicable there to:

Particulars Rs. (°000) Particulars Rs. (°000)
Interest on loans 518 Postage, Telegrams, Telephones 2.8

Interest on Cash Credits 446 Sundry Charges 2



Interest on Current A/c
Discount on Bills
Discounted (Net)

Interest on overdrafts
Interest on Saving Bank
Deposits

Interest on Fixed Deposits
Commission, Exchange &
Brokerage

Rent, Rates & Taxes

Auditor’s Fees

Supplementary information: Rebate on Bills Discounted Rs. 98,000 and provide for

bad debts Rs. 58,000.

& BIHS doee o 31-3-20138° eaoéé)ofbé :\’)oéé‘amt‘og PN o0 T8 ergiNare PrETdd a)vzsogoﬁ

390
108

220
554

16.4
36
2.4

Advertisement and
publicity

Directors Fees
Printing & Stationery
Law charges

Payment to employees
Lockers Rent
Transfer Fees
Depreciation on

Bank’s property

aegoes‘m L)U‘bég& @RI H0PE Sahod.

Dsoren s5(’000)
DOETOP SGed 518
SKS> B8 0 58 446
E8otw IO :6(;2 &
&m),065 I3 Dened
&0l 390
835 |>pop 36 108
“ G
290f, BP0 BFRtn SE 220
DD ot g
5)& darderp 3¢ 550
LIS, I8yo So8as
|&5°582 16.4
08, 86 81D $30e0 36
es&e5 Doz 2.4

Ioeen

622, BT, BOPSDy
58 ;,7°§en

55500 S08a30 $DIe3
3358 e

S0|ESed, DIS6

&66521)05‘.3 3dopen
o586 @3

Q
289 5&

o0 3 D $LIHS

1.4

0.4
1.4
108
0.7
1.4

10

&~(°000)

2.8

2

1.4

6

0.4

1.4

108

0.7

1.4

10



OB BITTE0:
a) &avboes 3D a".)e)&)e)}_) 8236 8. 98,000

b) oedarSe 576D Doryew 8. 58,000

16) X Co. ltd. was formed on 1-07-2012 to take over the business of M/S. A&B with
effect from 1-4-2012. Following figures of the company X Co. Ltd. for the year
ending 31-03-2013

To Salaries 24,000 | By Gross Profit b/d 1,25,000
To Rent & Taxes 9,600
To Office Expenses 4,000
To Electricity 2,000
To Insurance 1,600
To Directors Fee 3,500
To Auditors Fee 2,400
To Interest on Loan 1,200
To Advertisement 1,000

To Commission on
Sales 2,000
To Carriage outward 1,250

To Bank Charges 400
To Bad debts 750
To Preliminary Exp. 1,500
To Depreciation 2,800
To Net Profit 67,000
1,25,000 1,25,000

The total turnover for the year ending 31-03-2013 was Rs. 5,00,000/- divided into
Rs. 1,00,000/- for the period upto 1-07-2012 and Rs. 4,00,000 for the remaining

period. Ascertain the profits prior to and after incorporate.



M/S.A&B %0299 1-04-20123% S:oRfen 3D ééééogs X Co. Itd. 1-07-20123 S350

BaHeoIs. 8o8 dsoren 31-03-2013 3038 X Co.ltd. © 30833.

JIo°en o | dIocen Qogo
To daren 24,000 | By sye evgo 1,25,000
To OB, S:e0 9,600
To esdio ptyen 4,000
To 1)66355 2,000
To dsoe 1,600
To @338 280 3,500
To esBe5 Do 2,400
To esyp 3¢ 1,200
To seosen 1,000
To CRSSCH SRR 2,000
To 3T Ever 1,250
To ero a°8e 400
To oo erfen 750
To o208 8ye0 1,500
To ssorHse 2,800
To d%8ergso 67,000
1,25,000 1,25,000

31-03-2013 &° eossdhy $05%)0°08 3ngo &8558 (wiysen) &°.5,00,000/- a8 01-07-2012
38% 8. 1,00,000/- 50850, WARDS e 8°. 4,00,000/-e0m JPR0BDEIB. SRELH S0
SBOI*S IO éébééogssw.

17) State the provisions of Act relating to issue of bonus shares.

18)

%30 Trere 288 So20B80IS 38 D0EHen BeLHIn.

What is consolidated Balance Sheet? How it is prepared.

D358 &5 Oy,0 S ORI 3?2 ToA Je G,

- o -



(DBC 37)

B.Com. DEGREE EXAMINATION, DEC. - 2015
(Examination at the end of Final Year)
Part — II : Commerce
Paper - III : Advanced Management Accounting

Time : 3 Hours Maximum Marks : 80

SECTION - A (4x4=16)

Answer any four of the following

1) Limitations of Management Accounting.

DBTed @2°0e30Re*D S8 &ven.

2) Objectives of Budgetary Control.
2&08 dabo(ses By, Fsawren.

3) Limitations of payback method.
88 Trarty SRR’ SEBS'D SB8vBoe.

4) Current Liabilities.

Lé:\/{)pé @30)_)31).

5 Funds from operations.

6) Fixed cost.
B Sgodsoo.
®

7) Standard costing.
P38 s°Q0R.

8) Material Mix Variance.
DSBaHS WS DSBS,



SECTION -B 2x8=16)

Answer any two of the following

9) Explain briefly the concept of management information system?

DB gaes D38 KB 178y HJore [Feaod?
é R

10) The standard mix of a product ‘prestige’ is show below :
Raw Materials X : 30 units @ Rs. 2.00 each unit.
Raw Materials Y : 70 units @ Rs. 3.00 each unit.
Standard loss is 10% of input.
The actual mix is —
Raw Materials X : 34 units
Raw Materials Y : 66 units

The Rates are the same. The actual loss is 15% of input. Calculate various material variances.

30D “BIE” Tofy [Ferres DS 808 DS 638 :

308 3599e0 X : 30 ardey @ 8. 2.00 (58 aHuedeb.

308 3599e0 Y : 70 alrdey @ 8. 3.00 (58 ahuedeS.

Draoe38 S5 : 10% (S5 DS AL,

TORDE DoFRI :

308 SHev X : 34 arrdew, $00& 30Hev Y : 66 ardew, 86 abErEEsw.

ToHDE S0 Y 1 15% (555 23 abordes®. 998 058006 D3seen 88,0308

11)  The summarized balance sheets of Prasad Industries as on 31% Dec. 2005 and 2006 in as follows :

(Rs. In thousands)

Liabilities 2005 2006 Assets 2005 2006

Rs. Rs. Rs. Rs.
Share Capital 430 450 Bank 149 197
General Reserve 300 310 Debtors 210 455
P&L A/ 56 68 Stock 240 455
Creditors 188 134 Investments 50 60
Mortgage loan - 270 Fixed assets 400 320
Taxation provision 75 10

1,049 1,242 1,049 1,242




12)

Additional Information :

a) Dividends paid during the year Rs. 40,000.

b) Taxation provision Rs. 9,000.

c) Investments costing Rs. 8,000 sold for Rs. 8,500.
d) Fixed assets costing Rs. 10,000 sold for Rs. 12,000.

Prepare statement showing sources and application of funds and schedule of changes in working
capital.

(S& aocséi) 378 31 &o28 2005 508k 2006 T°¢38 esR) ®3),e0 ;’)e§§w Bo& degsoome D/ :

(8. 306:)
Liabilities 2005 2006 Assets 2005 2006
Rs. Rs. Rs. Rs.
AALIINPLITAR N Y 430 450 ergoHen 149 197
o8 8&36)5 300 310 awssriyen 210 455
oY So B 56 68 D 240 455
20T°Se0188 134epaden 50 60
B39 3y, - 270 %v@w 400 320
555 §%30 do°ye0 75 10
1,049 1,242 1,049 1,242
) DITTEI

a) 9o &:)aocﬁg 8or. 40,000.

b)  $%, §°%%0 Joeyew, 8. 9,000.

c) 8,000 dens Ke ?oéogaocﬁoen &or. 8,500% eoméééao.

d) . 10,000 dewns K %U‘K)_gen goe. 12,0005 eamééo.

2 TP Hr0d IFKeN S8 VSITK IFBER S8 BBJTLS Soe80ye DIBEL 03 dabod.

M/s. Venkat & Co. Manufactures two products “Bright and Beauty” and marketing them in
Andhra and Karnataka States. The actual and budgeted sales estimated for the current year 2006-
07 is as follows :
Products Actual Budget
Bright : Andhra 450 units @ Rs. 10 each 400 units @ Rs. 10 each

Karnataka 750 units @ Rs. 8 each 600 units @ Rs. 8 each



Beauty : Andhra 750 units @ Rs. 12 each 800 units @ Rs. 12 each
Karnataka 900 units @ Rs. 15 each 1,000 units @ Rs. 15 each

In the market research it was revealed that product “Bright” has a favour among customers, but is
under priced. The price of product “Beauty” is overpriced, in both the markets. The sales manager
recommended the following condition in preparing the sales budgets for the next year i.e. 2007-
08.
They are :
a) The price of product Beauty to be reduced to Rs. 10 and Rs. 13 in Andhra and Karnataka

Markets respectively.
b)  The price of product Bright is fixed at Rs. 12 per unit in both the markets.

c) The changes in price is going to affect the sales volume, which is as under :

Area Bright Beauty
Andhra 5% increase 10% increase
Karnataka 10% increase 15% increase

You are required to prepare sales budget for next year i.e., 2007-08, indicating the total sales

revenue.

M/s. 30%¢5/5023 Botk 850 Spen “Bevrd” S8y “Be0tsE0” dihB SKu, eol WBa KTe¥
Tgres® ok SaboisB. THIE Baby 2GS woSTres 2006-07 SoS5EEND BB I

D3\8.
SHen C L )
de0rH:  eoE 450 e a8 K B 6. 10 400 cHurdex 287 % 8 8. 10

St 750 aoedey 887,583 8. 8 600 afRey 8%, 8 6. 8
R0BB50 : es0((8 750 aorRen a8 K B 6. 12 800 cHurdex 287 % 8 8. 12

Spe¥ 900 chrden a8 5B 8. 15 1,000 ahuedey e.57) % 6 &, 16
38),65 383" 883 Ddcwres’, SKWPH “denrd” KT GO edirssn SOR @m&;so)esg, LN
BB HHB. IWY “V08B50” $8 Both TFOS'H IO I HIHB. ©iREH IFK ©§se8 2007-08
R0358y0°08 eangP zogeS $055°88 1808 IGSOX BP0I.
3P “Br0BB0” Y, BRRES G &, 10 $o8akv &, 13N &0l $BaKL TS Togred® SEIT
BROBISIR.
3D “Deor” Bo¥) §8 Er. 12 JEIM Bothd °8)pes’ HoISSRD. o W IeN @Ry

$837es @owaren 1808 oo DB



13)

14)

15)

[Pros~en de0ld Rrolits0
e30(% 5% ddorvrde 10% 2dorHée
Sopeos 10% ddorHEe 15% ddorHése

P VOO BFEEIOMT JWE™D BEY 0GR 2007-08 F°63 S D, IGO0 VMEY G AT,
ABanosod.
€

SECTION - C (3x16=48)

Answer any three of the following

Define Management Accounting? Explain its scope and importance.

DB rer ©F0B0f DBEroD, 588, FrswexBid K8y Fraod?

From the data given below, calculate each of the three wage variances of the two departments.

Department — A Department — B

Actual gross wages 4,000 3,900
Standard hours (produced) 18,000 14,000
Standard rate per hours 0-60 0-70
Actual hours worked 17,000 12,000

808 A& Bazodo o0& a7 ¥, DgrrrdS DD Kok [FAE DSBeTeR 88) 0k08.

dgrrio - @ dgrrrio - &)
PN X)J;& JSToen 4,000 3,900
ééo)g DD [Deoee3E Kotoew 18,000 14,000
2878, Mot (Fesre3s Bew 0-60 0-70
T°RS I Kotoew 17,000 12,000

Profits of an organization for 2012 and 2013 together with relevant information are given below.

2012 2013

Rs. Rs.

Materials 120000 160000
Wages 90000 120000
Fixed over heads 40000 44000
Variable over heads 24000 35000
Net Profit 10000 21000

In the year 2013 wage rate was increased by 20% material prices by 10% and sales price by 10%.

Analyse the causes of increase in profits in 2013.



16)

2012-2013 3058005 2.8 S0P ergren, QABY H3PT*B0 & (808 JPomr Hos.

2012 2013

& &
2838ans, 120000 160000
Sdaren 90000 120000
206 838 ey 40000 44000
38 855 e 24000 35000
DES egio 10000 21000

20133 So1S® Ssare 8en 20%, e380HS e 10%, o3)5°0 §8 10% HBreaw.

20136&° ergiodss® DHHBD seEEFoRD mgaomo&.

The cost particulars of Aditya Trading Co., for the year ending 31* March 2007 is as under :

Sales (2,500 units @ Rs. 200) 5,00,(5)8(5
Cost Fixed Variable
Direct Materials - 50,000
Direct labour - 1,00,000
Factory overheads 40,000 1,50,000
Administrative OHS 45,000 20,000
Other Expenses 50,000 30,000
1,35,000  3,50,000 4,85,000
Net Earnings 15,000
Calculate :
a) Break even points in units, in value and by using profit volume ratio.
b) Sales to have a net profit of Rs. 48,000.
c) Net profit when sales are Rs. 5,50,000.
d) Margin of safety when sales are Rs. 5,50,000.
e) New break even point when fixed expenses are increased by Rs. 15,000.
esBig (550R S02R 6 31 88y 2007 T°¢38 330D DBV [BoB DT HI)B.
Sseen (2500 Dy 63°. 200 2.8 oHrReS Fy,) &o°. 5,00,000
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(S 2e38a0S) - 50,000
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S8R PBdyen 45,000 20,000
3BE Py 50,000 30,000
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17) Mukund Co. Ltd. Is planning to increase its present capacity and is considering to purchase a new
machine. There are two alternative investment proposals. The annual cash flow i.e., profit before

depreciation after taxation and other particulars are as under :

Particulars Machine X Machine Y
Rs. Rs.
Initial investment 1,60,000 1,80,000
Annual cash flows :
1% year 50,000 52,000
2" year 60,000 68,000
3" year 80,000 56,000
4™ year 56,000 80,000
5™ year 24,000 50,000
6" year - 34,000
Calculate :

a) Pay back period.
b) Post pay back profitability.
c) Post pay back profitability Index.

d) Which Machine do you recommend for purchase.
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From the following information, you are required to prepare raw materials purchase budget for

April, 2012.

Materials A B C D E F
Estimated stock

On April 1 (Kgs) 32,000 12,000 48,000 4,000 28,000 56,000
Estimated stock

On April 30 (Kgs) 40,000 16,000 56,000 8,000 32,000 64,000
Consumption (Kgs) 2,40,000 88,000 2,64,000 72,000 1,76,000 3,44,000

Standard price per kg Rs.5 Rs. 1 Rs.3 Rs.2 Rs. 4 Rs. 6
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